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THREE YEAR BAS./BCOMS/BSCS/BBAS/BCAS (CBCS) DEGREE EXAMINATION, APRIL 2018
SECOND SEMESTER ' '
Part I — English
. - , GENERAL ENGLISH
Time: 3 Hours s G ' _ Max. Marks : 7.
1 Answ er any TWO of the following questions: S LA @x5=1

| (a) How docs sc1ence affect the life of an average man?

"~ (b) What qre the modes of greetings of different countries mentioned by A.G. Gardiner?
(c) What according to Smence are the advantages of a Negxo living in America? |
D Answe1 any TWO of the followmg questxons (2 x 5 =
- (a) How does John Keats descnbc the autumn season in the poem “Ode to Autumn”™?

(b) Write a critical apprecmtlon of the poem ‘T am Not that Woman'.

(c). What does Keats mean by ‘mists and mellow ‘fruitfulness’?

. 3. Answe1 any TWO of the following questxons 2x56
(a) Sketch the cha1 acter of Nathu in The Boy who Broke the Bank’.
(b) How did Subbaiah rise in fortune after his father's death?
(c) How did Subbaiah meet h1s tragic end?
(1

4. ~ Answer any ONE of the following questions :
(a) ‘Why.did Lomov want to marry his neighbour, Natalya?

" (b) What was the first cause of argument between Natalya and Lomov?

. 5.  Rewrite the following sentences as d'u'ected :
(a) He repairs the radio (into passive voice)
(b) Two houses \\.rere built by him (into active voice)
(c) The boys are making kites (into passive voice)

(d) You w1ll be pumshcd by me (into active voice)

‘(e) Do they sell apples? (into pa‘ssive voice)
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Rewrite the following sentences as directed : ©x1=5
(2) . He said, “I am busy”. (into indirect specch)
(b)  The boy said, “I can do it”. (into indirect speech) .
(¢ The boy said, “My father went to G.untur”. (into indi.1 ect speoch)
(d) - She said to me, “I am writing a poem” (into indirect speech)
(e) He said, “I have post.cd the letter”. (into indirect speech) ]
Rewrite the following sentences directed : (G x1=5)
(a) . Bombay is one of the biggest cities. (into positivé degree)
(b) No other Island is as large as Australia. (into superlative degree)
(¢) Very few kings are as great as Akbar. (change into comparative degree)
(d)  Helan of Troy was the most beautiful woman. (into comparative degree )
(&) Everest is higher than any other peak in the world. (into superlative degree)
‘ (1 x5=35)

Write a paragraph using the hints given below :

Swatcha Bharat — a massive programme —participation of '
of cleanliness — pollution free environment — out break of dise

living — educational institutions — part of curriculum structure.

Write a dialogue between Anil and Sudheer about their hostel day celebrations.

Fill in the blanks in the following dialogue :

A
B
A
B
A:
B:
A
B
A
B
A

Hello, who —?

This is Ram.

Oh, hello, Ram: How +?
Fine. -

Is Mohan at home?

No, he has ——— out.

When is he expected?

In about an hour, I guess.

Could you ———— message to him? Ask lﬁm to call me b

Sure, I will do that.

Ram.

Reading comprehension :

(a)

all sections of society — awareness
ases — good health — happy

(1x5=5)

(Hx1=5)

wek.

Read the following passage and answer the questions that follow : G x 1=5)
/ : Hhx1=5H

Now the tendency of the average man has alwavs bee

n to-dwell on the emotional and

ethical side of a case rather than on facts of the somewhat dull kind which interest the
eres )

scientist. Let me take two examples, the problem of the

problem of disease. A large number of Americans hold that Ne

American negro and the
gro is definitely inferior

to the whiteman, and should, as far as possible, be segregated from him. Ot} beli
. Others believe

that he should enjoy the same rights.

o
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(b)

(iv) ~Which areas serve as examples to prove the W

(1) How according to the Speake1 is every chﬂ

. 7 . ; . ‘ | ‘
1) 3 Who is the author of the above passage?
.. | ) ..
(ii)  How does an average man treat a case?

(iii) What 1nte1 ests the scientist?
riter’s point?

(v)  Write the antonym of ‘inferior’.

Read the following passage and answer the questions that follow 3

Every child is born with some inherited characteristics, in to a SPCCl
and emotional environment and trained in certain ways by figur
inherited honesty and self-discipline from my father, from my mothe
in goodness and deep kindness and so did my three brothers and sist

d born?

(11) VVho Would be the figures of author1ty‘7

(111) What did the speaker inherit from his father?

(iv) How did he develop faith 1n goodness?

(v) Give the meaning of ‘inherit’.
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